* TLARFEBDBATICAEYMS T TEEY,

* Adhesive rubber feet in cluded.

#M A% / Components

No. & ¥ / Part name | 8 / Pcs #E / Material - REALE / Color-Finish
1 Javkix)L 7 JLEHR A1050P ATHAVYN=TLRAL , AFFA0T 99T W34
Front panel Aluminium A1050P Hairline brushed silver anodized , Hairline brushed black anodized
2 YT 3R 7 JLSHR A1050P YN =T LIAL, 73997 WA
Rear panel Aluminium A1050P Silver anodized , Black anodized
3 HARTL—L TIVSHRH A A6063S-T5 TV TIIEE
Side frame Extruded aluminium A6063S-T5 Gray painted , Black painted

4 = N

Front frame

TILSHH A A6063S-T5
Extruded aluminium A6063S-T5

U 7R
Gray painted , Black painted

5 U7IL—L4

TILSHH A A6063S-T5

YN =FLI{+

Rear frame Extruded aluminium A6063S-T5 Silver anodized
6 E#/3—/ Top cover $f#R SPCC / Steel SPCC FAMNV-FE | 75993 % / Light gray painted , Black painted
7 T #/3— / Bottom cover $H4R SPCC / Steel SPCC AN V-EEK | 759985 / Light gray painted , Black painted

8 |[a—r—omvy

Corner block

FILSH LFv Ak ADCI12
Diecast aluminium ADC12

U 7R
Gray painted , Black painted

9 V724—k HORMEABSHIE UL94V-0 V=, 7399
Rear feet Flame-resistant ABS UL94V-0 Gray , Black
10 3L /2 / Rubber feet w19 AL / Polyurethane 7'59% / Black
il HAFE R (M4 x 6 H5) b2 ={fiyns—+
Screw (M4 - 6 Countersunk) Steel Trivalent chromate
12 HAFTER (M4 x 8 ) % =ffni—+
Screw (M4 - 8 Pan head) Steel Trivalent chromate
13 ERATE R (M4 x 10 /A UR) EoS =ffiRIRA-t
Screw (M4 - 10 Binding head) Steel Black trivalent chromate

B4k (BUFZEREDO) / Color type (End of product numberd)

BREUINTFEMTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

G/ Title

AEWORT L —R
DESKTOP ENCLOSURE

o]

RE/Scale

05 / Code ISRV / Panel | £ FH/5— / Top = Bottom cover | /K7L —L / Side frame £2/Approved 1 ®/Checked #R/Created | EF/Product number
G < JLsN— / Silver S4rJL— / Light gray 4'L— / Gray MS222-26-2801
B J59% / Black J5v%4 / Black J5v% / Black £ (320 " s
BS 2 )LsN— / Silver 75v% / Black J5w% / Black 1ERLH /Date 2017/08/29




B-B(1:4)

125

20

10

20

230

280

HARIL—1L1 / Side framel

221.5

6.1

3.5

1)72L—L1 / Rear framel

A-A(1:4)

BH~ti% / Max dim. 255

C C
| |
7R8> bkJL—.s1 / Front framel
260
B |e A B
‘ |
A —— L
i
| w0
sy
! o
I
I
— i
- a
233

782 kJL—1s2 / Front frame2

20.6

HARTL—L12 / Side frame2

H#hti% / Max dim. 2165

C-C(1:4)

A®h~Ti% / Max dim. 239

1J77L—1.2 / Rear frame2

205

O O
O O
O O
&

| —_ N

230

BREUINTFEMTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

fh/Title
AZIWORT LT —R
DESKTOP ENCLOSURE

o]

RE/Scale

2 /Approved #&[X/Checked X /Created FIF /Product number
MS222-26-2801 14
£ e ) /8
1ERLH/Date 2017/08/29




02 k/\AR)L / Front panel

B#Ti% / Max dim. 230

BH#~T% / Max dim. 205.5

|
|
|
|
N J,( _____
|
|
|
|

g

/%)L ZE/Panel Frontside

1)J7 /N4~ )L / Rear panel

B Ti% / Max dim. 230

R — 1

Surface protective film side

NT A E

H#~T% / Max dim. 205

JNA LR/ Panel

Frontside

Hairline brushed direction

R —

Surface protective film side

233

2115

|
|
|
|
I J,( _________ L
|
|
|
|

/N JLEE /Panel Backside

238.5

211.3

|
|
|
|
N J[ _________ L
|
|
|
|

/87 JLEZE /Panel Backside

BRASUINTFERTS

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

w4 /Title

72/ Approved

#&[X/Checked

x

#I[X]/Created

HH

IOUbEIL YT SR O]
Front panel , Rear panel
FF /Product number RE/Scale
H222 - W260 1
{ERE/Date  2017/08/29 3/ 8




2-5

702 MME| / Front side

216.5
199.5

B2 M| / Front side

2475
4-g45
35 167.5

2-4.2

209

1915

2-M4

55.5

55.5

=2] =] W=

55
1

[ ]

foct
=

e e e

[

HARIL—L1 / Side framel

H AR —L12 / Side frame2

S/ Title
TAKACHI] #XR#SHFERTE HARTL—L O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Side frame
a8/ Approved | 12/ Checked %] /Created | Z2%/Product number RIE/Scale
H222 - D280 135
ES E3Z o
i 478

YERL B /Date 2017/08/29




30

233

o) o)
L% A9
223
o) o)
\¥ \Y

R4

20

2-M4RHY S}
2-M4 Countersunk

AV bkIJL—L1 / Front framel

78> bkJL—1s2 / Front frame2

[TAKACHI) #=t&itshFBHTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

G/ Title
JaVkIL—L4

Front frame

o]

7R/ Approved

X/ Checked

T

X /Created

A

FIF /Product number

W260

RE/Scale
1:2

{ERL B /Date 2017/08/29




20

241

Ens

M4

ens

I=|

1)727L—L1 / Rear framel

|=i

1J72L—12 / Rear frame2

G/ Title
TAKACHI) #XaitanFE@TE YFIL—Ls O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Rear frame
A2/ Approved #&[X/Checked #[X/Created 1% /Product number RE/Scale
W260 1:2
Es E3Z o
B /Dae  2017/08/29 678




H#hti%k / Max dim. 217.5

A3~k / Max dim. 239

4/ Title
TAKACHI] BASHSNFERTE Ehs— @ G
TAKACHI ELECTRONICS ENCLOSURE CO., LT

oooooooo

RE/Scale

ved #&[X/Checked X /Created FIF /Product number

YERLB/Date  2017/08/29




6.75

15

249.5

fr—

229.5

256.5

R4.5

15.5

L
~
~
£
©

x

©
=
~
H
i
R
L

A$~Ti% / Max dim. 239

12

6.5

[TAKACHI) #=t&itshFBHTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

Mm%/ Title
Thi—

Bottom cover

o]

7R/ Approved

%[/ Checked

T

R/ Created

A

24 /Product number

W260 - D280

RE/Scale
1:25

{ERL B /Date 2017/08/29




